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Max.Marks : 50                    

Note: lHkh ç’u gy djuk vfuok;Z gSA lHkh ds vad muds le{k vafdr fd;s x;s gSaA 

1.               5x1=5 

(i)   egkRek xk¡/kh dh vkRedFkk dk uke fyf[k,A 

(ii)   *xwyj dk Qwy^ fdldh jpuk gS\ 

(iii)  *iwNks u çkr dh ckr^ ds ys[kd dk uke fyf[k,A 

(iv)  vius egkfo|ky; ds ,sls çk/;kid dk uke fyf[k, tks dkO; jpuk djrk gSA 

    (v)  dksbZ ,d ladj ’kCn fyf[k,A 

 

2.             3x5=15 

(d)   vkRefuHkZjrk ls D;k vk’k; gS\ 

([k)  Kkiu D;k gS\ 

(x)  dksjksuk egkekjh ls cpko gsrq lq>ko nhft,A  

(?k)  rRle vkSj rn~Hko ’kCn D;k gSa\  

    (M-)  xsgw¡ vkSj xqykc fuca/k dk D;k lans’k gS\ 

 

3.            3x10=30 

(v)   i= ys[ku D;k gS\ ’kkldh; ,oa O;fDrxr i=ksa dk o.kZu dhft,A 

(c)  „lR; ds lkFk esjs ç;ksx^ dk lkjka’k vius ‘’kCnksa esa fyf[k,A  

(l)  dksfoM&19 esa vkWu&ykbu f’k{k.k O;oLFkk ij vius fopkj çdV dhft,A 

(n)  e/; çns’k ds çeq[k /kkfeZd ,oa çkÑfrd LFkyksa dk o.kZu dhft,A 

    (b)  fgUnh dh ’kCn lEink ls vki d;k le>rs gSa\ 
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Note:  Attempt all questions. They do not carry equal marks. Internal choice is given. 

1.  Choose the correct answer from the given options:           05 

(i) Whose thoughts are described in the poem, “Stopping by woods on a 

snowy evening”? 

 (a) sailor   (b) salesman 

 (c) onlooker   (d) horse rider 

 (ii)  Who is planning to make use of information technology in business? 

 (a) state   (b) country 

 (c) government  (d) citizens 

(iii) Who were the first people to give Christmas gifts? 

 (a) Christians   (b) The Magi 

  (c) Freishers   (d) Protestants 

(iv) The first fruit that Raki tasted was……… 

 (a) Sweat   (b) Salty 

 (c) Sour   (d) Bitter 

 (v) He is very fond…………music. 

 (a) of    (b) on 

 (c) at    (d) in 
 

Short Answer Type Questions 

2.  Why does the poet stop his horse?           05 

OR 

 Why did Jim sale his golden watch? 

3.  Correct the following sentences: (any five)          05 

(i)    Gold is precious metal.   

(ii)   One should do his duty. 

(iii).This pen is inferior from that.   



 (2) 

(iv)  Don‟t make noise. 

 (v)    We went to Delhi with bus.   

(vi)  The cattles were grazing in the field.  

 (vii)  The police is looking into the matter. 

(viii) This is mine house. 

OR 

 Translate the following passage into English/Hindi: 

Hkkjr xk¡oksa dk ns’k gSA Hkkjr dh mUufr mlds xk¡oksa dh  mUufr ij  fuHkZj djrh gSA xk¡oksa dh 

mUufr ds fy, ;g vko’;d gS fd mlds fuoklh i<+s&fy[ks gksaA f’k{kk ds fcuk euq"; vius 

vki dks lgh <ax ls ugha le> ldrk gSA f’k{kk gh euq’; dks Ik’kq ls fHkUu djrh gSA blfy, 

;g vR;Ur vko”;d gS fd ge vius cPpksa dks f’kf{kr cuk;sa lkFk gh viuh csfV;ksa dh f’k{kk 

dh vksj Hkh tkx#d gksaA 

OR 

There are many advantages of early rising. One of the greatest advantages 

is the good start in our day‟s work. The early riser does a large amount of work 

before other people get out of bed. In the early morning, the mind is fresh and 

there are few sounds or distractions. Things done at that time are generally done 

well.    

Long Answer Type Questions 

4.  Write the summary of the story, ”The Cherry Tree”.         10  

OR 

 How has communication education revolutionized the world? 

OR 

 Write a note on communication through social media. 

5.  Write a short essay on any one of the following topics:      10 

(i) Corruption in India 

 (ii) The problem of educated unemployment. 

 (iii) The value of sports 

 (iv) Effects of social-networking sites. 

 OR 



 (3) 

 

 Write a paragraph on any one of the following: 

(i) Knowledge is power. 

 (ii) As you sow, so shall you reap. 

 (iii) Union is strength. 

 (iv) Example is better than precept. 

 OR 

 Discuss the salient features of a summary. 
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